College Algebra — Joysheet 1
MAT 140, Fall 2024 — D. Ivansié
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Write the sets in interval notation and sketeh them on the number line.
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Solve the equations.

3. (3pts) 3x+5=5x—11

e

-2y a K -

Simplify and write in standard form:
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Simplify and write the answer so all exponents are positive:
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Factor the following.

a2, (dpt) 2 —22—15=(1-5)11+) 13. (dpts) 22—z +24= ( X~1)(x~2)
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Use the ac-method or another method to factor. Show how you got vour answer.

14. (6pts) 3z* — 10x — 8 = 15. (6pts) da®+4x—15=
r?J = - 24 =19 J % Ir’»'-.-f.-ﬁ- ~ Lo 0 -6
Sl = - l[} Sl = zl'

4t rl0g-62-15

1

s, R B aa R

= ﬁ".;{ (f'fE\L?_"t’d? = '??‘E(!?fx.f-_ﬁ"?'f'?—f;j_}
- i’ . q"k":
s -h.fi':i\'|f}l'l._4‘-‘ : |:.?‘“‘3\!'{?‘J""‘




